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\. Choose the correct answer: 10x1=10
1. Zinc is obtaineg from ZnQ by

a) carbon reduction b) reduction using silver

c) electrochemical process d) acid leaching
2. W E®is positive then the AG is negative and the reaction is

a) spontaneoys ) equilibrium C) non-spontaneous d) none of the above
3. An aqueous solution of borax is

a) neutral b) acidic c) basic d) amphoteric
4. Which of the following is not correct?

a) Berylis acyclic silicate

b) Mg,SiO, is an orthosilicate

€) SiO,2is the basic structyr

al unit of silicate
d) Feldspar is not aluminosilicate
9. Graphite and diamond are

a) covalent and molecular crystals b) ionic and covalent crystals
CY both covalent crystals d) both molecular crystals

6. In calcium fluoride, having the flurite structure the co-ordination number of Ca2*
and F ion are -

"a) 4and 2 b) 6and6 £y 8and 4
. .The rate law of the reacti

d) 4and8
onis Rate = k[Br] [BrO,] [H*]2, then the total order of reaction is

a) 1 b 3 12 o) 4
The decomposition of phosphine (NH,) on tungsten at low pressure is a first order
reaction. It is because the :
a) rate is proportional to the surface coverage
b) rateis inversely proportional to the surface coverage
C) rateis independent of the surface coverage _d) rate of decomposition is slow
9. Which one of the following is strongest acid?

a) 2-nitrophenol b) 4-dichlorophenol

ion

€] 4-nitrophenol d) 3-nitrophenol

" NaoH \CH
10. The reactions CH.1 > ki is an example of
oH 7 0

a) Wurtz reaction b) cyclic reaction
£) Willilamson reaction d) Kolbe reaction

5x2=10
i _rals and ores.

extraction of copper
he extraction of aluminium

i) Silicain the
i) Cryolite in t
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